(*
tick =200 ms
CLK = not CLK every 1 sec

)
t1(in = nottl.q, pt := t#ls);

if t1.q then outO := not out0; end_if;
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microSD Ul ATMEGA2560
Card 20 ] RESET PFO/ADCO
Multimedia " PF1/ADC1
25| XTALL PF2/ADC2
(O] 1 =2 XTAL2 PF3/ADC3
o 1 8 PF4/ADC4/TCK
N 1 25— PAO/ADO PF5/ADC5/TMS
-~ 2| PAL/ADL PF6/ADC6/TDO
X0 0 <2 PA2/AD2 PF7/ADC7/TDI
oano O Z2— PA3/AD3 -
<3| PA4/AD4 PGO/WR
25— PAS/ADS PG1/RD
25| PA6/ADE PG2/ALE
L2 PA7/AD7 PG3/TOSC2
10 o PG4/TOSC1
5o PBO/SSIPCINTO PG5/0COB
21| PBL/SCK/PCINTL
5| PB2/MOSI/PCINT2 PHO/RXD2
S2—| PB3/MISO/PCINT3 PH1/TXD2
CLK <3| PB4/OC2A/PCINT4 PH2/XCK2
c <= PBS/OCLA/PCINTS PH3/0OC4A
oFT 52| PBE/OC1B/PCINT6 PH4/0C4B
- PB7/0OCOA/OC1C/PCINT7 PH5/0C4C
PH6/0C2B
Qx0.1 22 pcoirs PH7/T4
= PC1/A9
22— PC2/A10 PJO/RXD3/PCINT9
<27 PC3/A11 PJ1/TXD3/PCINT10
25| PC4/AL2 PJ2/XCK3/PCINT11
25— PCB/AL3 PJ3/PCINT12
25| PCB/A14 PJ4/PCINT13
= PC7/A15 PJ5/PCINT14
43 PJ6/PCINT15
“a—| PDO/SCL/INTO PJ7
“=—| PDL/SDA/INT1
“e—| PD2/RXD1/INT2 PKO/ADC8/PCINT16
“7—| PD3/TXDL/INT3 PK1/ADCY/PCINTL?
“5—| PD4/ICP1 PK2/ADC10/PCINT18
“5—| PD5/XCK1 PK3/ADC11/PCINT19
S| PD6/TL PK4/ADC12/PCINT20
=2 PD7/T0 PK5/ADC13/PCINT21
XD 2 PK6/ADC14/PCINT22
‘CE PEO/RXDO/PCINP8/BBDC15/PCINT23
=—| PEL/ITXDO/PDO
—5—| PE2/XCKO/AINO PLO/ICP4
—2—| PE3/OC3A/AINL PL1/ICP5
——| PE4/OC3B/INT4 PL2/T5
——| PES/OC3C/INT5 PL3/OC5A
—5—| PEGIT3/INT6 PL4/0OC5B
—— PE7/ICP3/CLKO/INT7 PL5/0C5C
o8 PL6
00| AREF PL7
= AvCC
8.00 9.00 10.0




